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Cinemática :  

dt
dxvx = ; 

dt
dv

a x
x = ; se 0=xa ⇒ tvxx x+= 0 ;  sea te

x c= ⇒ 2
00 2

1 tatvxx xx ++=  

  
r 
r = xˆ i + yˆ j + z ˆ k   ;  v 

  

r 
=

d
r 
r 

dt
= vx

ˆ i + vy
ˆ j + vz

ˆ k = vt̂   ;  
dt
vda
r

r
=   ;  

dt
dvat =   ;  

R
v

n

2

=a  

O
O

O
P

O
P vvv '

'

rrr
+=  

Dinâmica : 
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Trabalho e energia : 
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Sistemas de partículas, corpo rígido e rotação : 
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Termodinâmica :  
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Teoria cinética : 
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Condução do calor : 

x
kS

t
QI

∆
∆Τ

=
∆
∆

=      ;     
kS
xR ∆

=  


